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REAE L “Ruyigidiz”? VRN IR R T LR R AT R 2
REMNGEEHAXE? BHABR?

ARG IR ? PRE— N ? R4 2

RASERMBTERKBTSN, SERA, BiHBER, EIIRHRIREE & RH 42
RESBAIERR 1 R 45 7R, # R AR E GRS R AT R FTAERT ), BH e
TR, EERERBOERR, BHRRERTTEE, S
HRSAHAT 2R, TAEATRAREBANRE, 24 5 R o
W, RESHAEE RN R PR ETIE?

BEMRE R R TIEN, IEHH 4 RERIRANR?

BB AIEH RSB SIEIR, L BB LR TR TR AT I, (BT
RERANERAEER B BRI R T bR, AR V8 B F & G ?

TRERAERHE, BESZ>0 REfds>0 Hftar
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=, HEE (S, 310040
1 (2049 E4EHIS & AEERRIRH, EEZRFRTHREA-15C, KR EERERN
+30C, HEAEHLE AT EAMEIR, WA B SRS I (R A AR, B
K&K 167200k]/h, A& SIE1E ~=1660k]/kg, A~1885k]J/kg, h~562k]/kg.
W |
(1) BAIHIAE g, (44 Ted
(2) BAFEHR v, (459 |
(3) BEHHAFRERE N, EEVAFELESINEN,
441
(4) TEAHIE R e . (49
(5) 7 lgp—h B ERRHIEERL. (440

A\

2. (204)) ZERYFEDSHKESRE 1 SE0H: p=13MPa, t,=550C. 7EZIR%E
L IR BRAS 25, p,=0. 005 MPa, ZIKREAS/NE 130 t.
(1) RFRBAAERTHEMNE D LAERMEE. (54
(2) HEFHBYOHMHEE 1, =85% , RFBRBHMINE, HOLERNEE, 7
T EEA KIS AR BRI . (15 43)
E%0: p= 13bar, t,=550°CA}, h= 3469.0 kJ/ kg ; s,=6.6049 KkJ/ kg

2s RAEZH: P,=0.005 bar , t,=32.88C

By =137240 ke K, =2560.55kS kgt
Fe2422 887 ket 5, =046  {Aee K) 5

5, =8.3930&/ {4z e K




3. (20 4 BAIEERWBHLESMAEROEISHA p=0.1 MPa. 4,=50C, %
PRIEHELE £, =6, IMAKIRE q1=750 kl/kg. Bi&LRESSHiEE LA HEAES A,
ek

(1) BIRME, EHHED (84))

(2) FBEFREIREEE (64)

(3) BEEH (64

4. (20 77) 100 kg @ H 0CHIIK, 7E 20CHIFABEF R A KB THRE 20°C. B4k
IR R 335kI/kg, KEIELIEE S c,=4.187kI/(kg'K), K:

(1) vKEdb 7K, FFHEE) 20°CHIE A,
(2) BEIEAIFELE NI RE R,
(3) VKR 20°C/KAIRT R REIR %2, FBHRT T-s B L.

5. (2093 K74 p1=0.1MPa , IBEH t,=30C, HINEE o=0.6 MBS SEFE
RESNAEL G, EAFE pp=02MPa . HEEFSRLEH, FBESSENBES
&, K: E4iERZSMENERE @ IEEE d).

(HKZESERASE: t=30CHf, p;=4241Pa; t=60CHf, ps;=19.92kPa;

t=90°CHf, ps=70.11kPa; t=100'CHf, ps=101.31kPa)




